BK S:t Erik

Lordagsbarometer 2019-02-23

Partavling, 11 bord, 22 par.

Antal brickor: 24. Medel: 239.8.

Plac Par Poéang % Namn MID Klubb
1 70 3176 66.17 Lowe Kozak - Hjalmar Sandblom 66242 59323 BK S:tErik
2 76 292.8 61.00 Gunnar Bostrom - Eva Menzing 46656 57693 Filbyter Bridge - BK S:t Erik
3 6 283.5 59.06 Lena Engman - Kjell Pettersson 61439 1454 BK S:tErik
4 2 274.0 57.09 Lennart Rehle - Agneta Boberg 6599 52813 BK S:tErik - Sthims-Polisens BS
5 11 271.7 56.61 Tor Simensen - Jan Christiernin 28600 50692 BK S:tErik
6 9 268.5 55.94  Lars Nilsson - Anita Brynje 43950 44476 BK S:tErik
7 3 261.8 5455 P&l Nyrén - Maija Lempianen Nyrén 66405 67039 BK S:tErik
8 73 248.3 51.74 Lena Hammarberg - Cary Hammarberg 49083 49084 BK S:tErik
9 72 2417  50.35 Lars Lindén - Annika Lindén 10451 65109 BK S:tErik
10 4 241.0 50.21 Gijsbert Van Liemt - Marianne Nilsson 44890 9163 BK S:t Erik
11 8 2359  49.14 Marianne Larsson - Gunnar Andersson 44637 47079 BK S:t Erik
12 78 2311 48.15 Lars Janzon - Lena Janzon 57732 57731 BK S:tErik
13 75 226.4  47.17 Marie Andrén - Maria Raftewold 78423 63887 Norrorts Bridge - BK S:t Erik
14 74 222.0  46.25 Jan Nordlund - Fredrik Sandvall 23124 25808 BK S:tErik
15 80 220.7 45.97  Kalle Fyhr - Britt-Louise Schmidt 33110 - Véanersborgs BS
16 79 219.6  45.75 Kerstin Hastad - Lars-Erik Rudstrom 11222 10725 Norrorts Bridge - BK S:t Erik
17 71 219.0 45.63 Irene Rune - Karl-Henrik Linnhag 85381 35533 BK Tva Ess - BK S:t Erik
18 1 210.2 43.79  Carl-Henrik Nauclér - Joakim Tillas 87456 63743 BK S:tErik
19 5 208.9 43,53 Marianne Tessmar - Brita Flach 22874 39228 BK S:t Erik
20 7 204.2 42.55  Britt Andrén - Agneta Fergenius 46645 53350 BK S:t Erik
21 10 189.6  39.51 Erik Wall - Lisbeth Solberg 17069 22357 BK TvaEss
22 77 186.9 38.94 Ellis Wohiner - Nils Wikstad 90611 93666 BK S:t Erik
1 « E53 Bésta kontrakt 2 & KKn964 Bésta kontrakt 3 4 Kn63 Bésta kontrakt
Nord v K93 INTN =90 Ost vED8 2NT S =120 Syd v7 5v V =-650
Ingen + DKn43 NS +E9 ov + EKDKn85
%983 & ¢ v & NT *E94 & ¢ v & NT #ED9 & ¢ v & NT
4 KKnl10 D862 N67 767 43 « ED1072 N6 6 8 88 aD4 &« EK952 N56 133
vED52 v64 S6 7767 vKn3 v K764 S 66 8 88 vD1096 v EKKn32 S560 3 3
+95 410876 O75675 + K543 ¢ Kng6 O7 6555 + 102 4643 O 6 5 11105
&#EKn54 #1072 V75675 #Kn108632 &K V76555 #K10862 &- V 6 5 11106
4974 485 41087
v Kn1087 v 10952 v 854
¢ EK2 ¢ D1072 +97
*KD6 «D75 #Kn7543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 79 INN+1 o7 120 180 20| 2 79 24 O-4 ¢7 200 200 0.0| 9 72 26 O-2 ¢9 200 20.0 0.0
9 72 2NN= v6 120 180 20| 9 72 INN+3 43 180 180 20| 3 78 3¢ N-1 &A -50 18.0 2.0
74 7 INN+1 46 120 180 20| 3 78 24 O-3 &5 150 13.0 70| 2 79 3vV+2 +A -200 150 5.0
75 6 2vS= +9 110 140 6.0(73 8 3vO-3 ¢7 150 13.0 7.0(73 8 3vO+2 ¢9 -200 15.0 5.0
3 78 INN= a2 90 120 80|74 7 2NN+1 oT 150 13.0 7.0(80 1 4¢DN-3 &A -500 120 8.0
11 70 INV-1 9 50 8.0 120(75 6 INN+2 v4 150 13.0 70|71 10 4v V= ¢ A -620 10.0 10.0
71 10 INV-1 +5 50 8.0 120(77 4 INN+1 v6 120 70 130| 5 76 4v V+1 +A -650 5.0 15.0
73 8 INV-1 +3 50 8.0 120(80 1 2NN= v6 120 7.0 130(74 7 4vO+1 ¢9 -650 5.0 15.0
77 4 2¢ N-1 v6 -50 3.0 170 5 76 24 O-1 ¢2 50 3.0 170(75 6 4vO+1 ¢9 -650 5.0 15.0
80 1 2¢ N-1 46 -50 3.0 17011 70 2v V-1 2 50 3.0 17.0(77 4 4v O+1 ¢9 -650 5.0 15.0
5 76 3vS-2 aT -100 0.0 20.0(71 10 14 O+1 o7 -110 0.0 20.0(11 70 5¢DN-4 &A -800 0.0 20.0
4 Ly Bésta kontrakt 5 +KD Bésta kontrakt 6 4 E8 Bésta kontrakt
Vast v EDKn3 44 V =-620 Nord v K64 24 N =110 Ost v E9865 3v S =140
Alla + D762 NS + Kn93 ov + D108
D742 & ¢ v & NT #ED986 & ¢ v & NT D104 & ¢ v & NT
47652 #EKDKn108 N 8 6 8 3 3 a74 4 8652 N65787 4 D106 4 KKn2 N7 7978
v1084 v75 S 868 33 v 108 v EKn93 S65787 v1042 vD73 S77 978
+Kn93 ¢ EK10 O5 7 5 109 ¢ EKD105 ¢ 72 06 5556 ¢E63 #9752 065455
#E86 4103 V575 109 #K1042  #Kn53 V655586 #K965 &E83 V65455
493 « EKn1093 497543
v K962 v D752 v KKn
¢854 + 864 ¢ KKn4
#KKn95 &7 #Kn72
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 5 240+2 +4 -170 150 5.0|72 11 3NN= v9 600 200 0.0{10 73 3«V-4 oA 400 20.0 0.0
3 79 14 O+3 &5 -170 150 50|76 7 2NN+2 9 180 180 20| 1 5 INN+2 ¢2 150 17.0 3.0
6 77 24 O+2 v2 -170 150 5.0|74 9 2NN+1 ¢3 150 16.0 40(74 9 INN+2 5 150 17.0 3.0
70 71 34 O+1 ¢4 -170 150 5.0| 4 78 2NN= v9 120 140 6.0(72 11 2¢v N+1 ¢5 140 140 6.0
75 8 34 O+1 ¢4 -170 15.0 5.0|10 73 3¢ V-2 s K 100 120 80| 4 78 INS+1 &6 120 11.0 9.0
76 7 24 O+2 v6 -170 150 50| 3 79 34 S-1 ¢ A -100 9.0 110(76 7 INN+1 42 120 11.0 90
10 73 4v N-2 45 -200 6.0 140(70 71 24 S-1 ¢ A -100 9.0 11.0(80 2 2v N= +9 110 8.0 12.0
72 11 49 S-2 45 -200 6.0 140 1 5 3NN-2 .7 -200 40 16.0| 3 79 INN= +5 90 3.0 17.0
80 2 4vy N-2 +A -200 6.0 140| 6 77 3v S-2 ¢ A -200 40 16.0| 6 77 INN= 2 90 3.0 170
4 78 44 O= v6 -620 10 190|75 8 44 N-2 ¢7 -200 40 16.0(70 71 INN= 2 90 3.0 17.0
74 9 44 O= 49 -620 1.0 190(80 2 3&#N-3 ¢7 -300 0.0 200(75 8 INS= *6 90 3.0 17.0
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7 4 K76 Basta kontrakt 8 453 Basta kontrakt 9 410 Basta kontrakt
Syd v K9754 3v S =140 Vast vKD75 SNTND-1-100 |Nord vD7642 3¢ ND-1-100
Alla +6 Ingen + Kn1072 ov + K874
#D1096 & ¢ v & NT #E43 & ¢ v & NT #D87 & ¢ v & NT
« E92 « Kn43 N8 59 88 «K9642 4 ED107 N8 6 9 48 # K98652 473 N4 8856
vE108 vKn3 S$859838 v1064 vKn S86 9 48 v EK10 v53 S$38756
+85 ¢KDKn1074 O 5 8 4 4 5 ¢KD9 #6543 046495 ¢E2 ¢ DKn3 095587
#K7432 #Kn8 V57445 »86 #DKn75 V47495 #92 #KKn10654 V 9 5 5 8 7
+D1085 «Kn8 & EDKn4
v D62 v E9832 v Kn98
¢ E932 +E8 4 10965
»E5 #K1092 #E3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
75 10 4v N= %] 620 200 00|77 8 4v S+l ¢K 450 200 0.0| 5 78 24 V-2 v2 200 18.0 20
2 6 2NV-2 v4a 200 170 30|71 72 3vS+2 +K 200 180 20|71 72 34 V-2 +4 200 18.0 20
11 74 2NV -2 v4 200 170 3.0(75 10 3vy S+1 +K 170 150 50|77 8 24 V-2 aT 200 180 20
5 78 3v N= +K 140 130 7.0(76 9 3v S+l +K 170 150 5011 74 34 V-1 *4 100 12.0 8.0
7 1 24S+1 8 140 130 70| 5 78 3vS= 8 140 11.0 9.0(75 10 34 V-1 *7 100 12.0 8.0
76 9 INN+1 K 120 10.0 10.0(80 3 3v S= *6 140 11.0 90|76 9 34 V-1 v2 100 12.0 8.0
80 3 2v N= +K 110 80 120 7 1 4eV-1 vK 50 8.0 120 7 1 INN= *5 90 8.0 12.0
71 72 INS= *2 90 6.0 14.0(73 70 Pass 6.0 140 2 6 3#0= +6 -110 5.0 15.0
73 70 Pass 40 160 2 6 4vS-1 46 -50 3.0 170(80 3 24 V= aT -110 5.0 15.0
77 8 3y N-1 &J -100 20 180 4 79 4vS-1 +K -50 3.0 170 4 79 24 V+1 ¢K -140 1.0 19.0
4 79 2NO+1 48 -150 0.0 20.0(11 74 4v S-2 vT -100 0.0 20073 70 24 V+1 v4 -140 1.0 19.0
10 4942 Basta kontrakt 11 483 Basta kontrakt 12 4E93 Basta kontrakt
Ost vD72 34 O =-140 Syd v Kn64 44 V =-420 Vast v KKn6 2NT N =120
Alla + EK6 Ingen + K94 NS + Kn875
#KD108 % ¢ v & NT #E9854 & ¢ v & NT »764 & ¢ v & NT
«D1087 «K65 N555 45 « K752 «EKN1096 N 8 2 2 2 3 47642 4Kn8 N7 76 88
vK1063 vEKn S5 4444 vED v K7532 S82223 vD985 vE42 S7 77838
742 ¢ DKn93 0888938 ¢ Kn10852 ¢ D63 O 5 1110105 +4 ¢+ KD932 O6 6 6 55
£95 #EKn43 vV 88898 *73 »- V 5 1110105 #E1093 #Kn85 V66655
# EKn3 «D4 « KD105
v 9854 v 1098 v 1073
41085 ¢ E7 + E106
*762 #KDKn1062 #KD2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
70 75 3NO-1 v2 100 190 10| 3 7 44S-1 vA -50 200 00| 6 78 INN+3 ¢2 180 20.0 0.0
76 11 INO-1 ¥5 100 190 10|74 71 44 S-2 vA -100 180 20| 1 9 INN+2 ¢2 150 17.0 3.0
3 7 INO= va 90 13.0 7.0|70 75 5#S-3 a5 -150 16.0 4.0|72 73 2NN+1 3 150 17.0 3.0
6 78 INO= v4 90 13.0 7.0 5 79 34 O+2 K 200 130 7.0| 8 2 24 S+1 ¢4 140 140 6.0
72 73 INO= 43 90 13.0 7.0| 6 78 34 V+2 #A -200 130 7.0|77 10 INN+1 3 120 12.0 8.0
80 4 INO= 43 90 13.0 7.0[77 10 34 V+3 #A -230 10.0 10.0|70 75 2v V-2 *7 100 10.0 10.0
74 71 INO+1 v9 -120 8.0 12.0(72 73 44 V= ¢ A -420 70 130 3 7 INS= 3 90 8.0 12.0
1 9 INO+2 &3 -150 3.0 17.0(76 11 44 V= v4 -420 7.0 130 5 79 2¢ O-1 &K 50 4.0 16.0
579 INO+2 v4 -150 3.0 170 8 2 44 O+1 +A -450 40 16074 71 1v V-1 »7 50 4.0 16.0
8 2 INO+2 v4 -150 30 170 1 9 54DS-3 YA -500 10 190|180 4 2v V-1 &7 50 4.0 16.0
77 10 2NO+1 ¥9 -150 3.0 170(80 4 54DS-3 YA -500 10 19.0|76 11 2#S-2 ¢+4 -200 0.0 20.0
13 a4 Basta kontrakt 14 «D74 Basta kontrakt 15 «Kn8 Basta kontrakt
Nord v KD986 4v N =620 Ost v43 54 O =-450 Syd v K1097 3NT S =600
Alla 4 Kn93 Ingen 492 NS + D73
#E853 & ¢ v o NT #EDKn1086 & ¢ v & NT 10984 & ¢ v & NT
4 D75 4Kn10932 N 8 9 107 8 4 K1093 4 E652 N56 323 4E963 4 K74 N8 7 9809
vE vKn743 S 79 107 8 vEKD862 v7 S563 23 vKn653 v84 S87 989
+8542  +DI10 054354 ¢- ¢+ KD84 O 8 7 101110 + 86 ¢Knl0542 0O 4 5 4 4 4
#KD964 #102 V54354 *K95 #7432 V 7 6 10119 £762 *EK5 V45454
« EK86 «Kn8 « D1052
v 1052 v Kn1095 vED2
+ EK76 ¢ EKn107653 + EK9
*Kn7 »- #DKn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 8 4y N+2 & 680 200 00| 4 8 4v V-1 +9 50 16.0 40| 2 10 3NN= +5 600 180 2.0
6 79 3NS+1 ¢4 630 180 20| 6 79 54 O-1 +A 50 160 40 9 3 3NS= 43 600 18.0 20
2 10 4v N= *T 620 150 50|73 74 3NV-1 *T 50 16.0 40|73 74 3NS= +8 600 18.0 20
7 78 4v S= *K 620 150 50|75 72 4v V-1 +9 50 16.0 40|77 70 INS+2 45 150 140 6.0
9 3 3NS= *6 600 11.0 90(8 5 3v V-1 +9 50 16.0 40|75 72 3vy N= *A 140 12.0 8.0
73 74 3NS= +8 600 11.0 90| 2 10 2vV+2 94 -170 9.0 110 6 79 2NN= *A 120 10.0 10.0
80 5 3v N+l ¢Q 170 8.0 12071 76 3v V+1 9 -170 9.0 11.0(71 76 24 S= +8 110 8.0 12.0
77 70 2NN+1 +Q 150 6.0 140( 1 11 3v V+2 &A -200 40 16.0(80 5 INS= v3 90 6.0 14.0
1 11 4vy N-1  &T -100 20 180 7 78 4¢ S-4 vA -200 40 160 1 11 3NS-1 +8 -100 4.0 16.0
71 76 4y N-1 & -100 20 180 9 3 3#N-4 v5 -200 40 16.0| 7 78 3NN-2 &5 -200 2.0 18.0
75 72 4y N-1 4] -100 2.0 18077 70 5#4DN-5 w7 -1100 0.0 200 4 8 5vN-4 &A -400 0.0 20.0
16 4 E1073 Bésta kontrakt 17 & EKn2 Bésta kontrakt 18 476 Bésta kontrakt
Vast v K8 3NTV =-600 Nord v EKn54 34 OD-1100 Ost v 109 3y OD-1100
ov + DKn1032 Ingen + K1073 NS + D73
#43 & ¢ v o NT *KKn & ¢ v o NT #DKn6543 & ¢ v & NT
aKD4 498 N2546 4 «KD 210987654 N 6 8 9 4 8 K10 943 N6 54865
vE9543 ¢102 S2546 4 vKD73 v6 S 689 438 vKD753 v862 S76587
¢+ E6 ¢ K987 O 108 9 7 9 ¢E4 ¢ Kn62 06 3485 ¢ EKn105 +¢ 642 06 7 8 45
#KKn6 #ED1092 vV 108 9 7 9 #ED953 #62 V63485 *K2 *E1087 V77845
4 Kn652 43 « EDKn852
v DKn76 v 10982 v EKn4
+54 + D985 + K98
*875 210874 *9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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8 78 2NV+1 ¢Q -150 200 0.0| 8 78 3NDV-5 ¥5 1100 200 0.0[(74 75 24 S+1 vK 140 20.0 0.0
72 77 2NV +2 ¢ -180 180 20|74 75 3#V-3 7 150 170 3.0|72 77 24 S= vK 110 18.0 20
171 3NV= ¢+ Q -600 120 80|76 73 3NV-3 ¢7 150 170 3.0| 1 71 4vDV-1 a7 100 150 5.0
5 9 3NV= +Q -600 120 8.0| 1 71 INN+1 &7 120 140 6.0|10 4 3v V-2 a7 100 150 5.0
7 79 3NV= +Q -600 120 80| 3 11 44 0-2 v2 100 100 10.0| 2 70 3v V-1 a7 50 8.0 120
10 4 3NV= ¢+ Q -600 120 80| 5 9 44 0-2 ¢5 100 100 10.0| 3 11 3v V-1 £Q 50 8.0 120
76 73 3NO= +5 -600 120 8.0|72 77 44 O-2 45 100 100 10.0| 7 79 4v V-1 a7 50 8.0 120
3 11 3NV+1l ¢Q -630 4.0 16.0|80 6 3¢ N-1 v6 -50 6.0 14076 73 3v V-1 a7 50 8.0 120
74 75 3NV +1l 43 -630 4.0 16.0| 2 70 24 O= +5 -110 40 16.0|80 6 3v V-1 a7 50 8.0 120
80 6 3NV+1l 2 -630 4.0 16.0| 7 79 24 O+1 T -140 10 190| 8 78 44 S-1  vK -100 2.0 18.0
2 70 ANV+1 ¢Q -660 00 200(10 4 240+1 *T -140 10 190| 5 9 3v V= a7 -140 0.0 20.0
19 4 KD10 Basta kontrakt 20 4 Kn103 Basta kontrakt 21 410642 Basta kontrakt
Syd v K9 ANT S =430 Vast vE1098 5NT S =660 Nord v972 2NT O =-120
ov ¢ K84 Alla ¢ E954 NS ¢ KDKn3
#106542 & ¢ v & NT *97 & ¢ v & NT *76 & ¢ v o NT
4 8632 «E74 N 11107 9 10 D752 «+E64 N 7 11118 10 | «Kn73 «ED8 N3 7 454
vKn7532 vD1064 S 11107 9 10 v Kn6 vD7 S 7 11118 11| v54 vKKn1083 S 3 7 4 5 4
¢32 ¢ D1065 022642 ¢1062 #Kn87 062252 + 86 ¢ E52 096878
&E7 *83 V22642 #KKn43 #108652 V62252 #KKn10843 #ED V96878
4 Kn95 4 K98 4 K95
vE8 v K5432 vED6
¢ EKn97 + KD3 +10974
#KDKn9 #ED #0952
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
73 1 3NS+2 v2 460 200 0.0(11 5 4v S+2 43 680 190 10(11 5 540-1 &5 50 199 0.1
6 10 3BNS+1 v2 430 16,0 40(80 7 4v S+2 &4 680 19.0 10| 3 71 1v O+2 45 -140 166 34
9 78 3NS+1 v2 430 160 40| 2 72 4v S+1 43 650 130 70| 6 10 3vO= *T -140 166 34
11 5 3NS+1 5 430 160 40| 6 10 4vS+1 v6 650 130 70| 2 72 3NO= oT -400 7.8 122
2 72 3NS= v2 400 9.0 110| 8 79 4v S+1 45 650 13.0 70| 4 70 3NV = ¢+ K -400 78 122
8 79 3NS= v2 400 90 110 9 78 4v S+1 46 650 130 70| 8 79 3NO= a5 -400 78 122
75 76 3NN-= v6 400 9.0 110 4 70 4v S= a5 620 80 120|73 1 3NO= a5 -400 78 122
77 74 3NS= v3 400 9.0 11075 76 2v S+3 45 200 6.0 140(75 76 3NO= *7 -400 78 122
80 7 2#S+3 3 150 40 16.0(73 1 3v S+l 2 170 4.0 16.0(77 74 3NO= *T -400 78 122
3 71 3NS-1  v5 -50 20 18.0(77 74 3v S= vJ 140 20 180 9 78 3NO+1 5 -430 0.1 199
4 70 3NS-2 v2 -100 0.0 200 3 71 4vS-1 ¢2 -100 00 20080 7 A-IA- 80 76
22 « EK963 Basta kontrakt 23 # 982 Basta kontrakt 24 « E852 Basta kontrakt
Ost vE3 ANT N =430 Syd v E654 3NT V =-600 Vast v 963 2¢ V =-90
ov + EKn63 Alla + K8 Ingen + Kn82
»K8 & ¢ v & NT »K963 & ¢ v & NT »K83 & ¢ v & NT
aKn & 7542 N 4 117 1010 «DKn7 &E3 N4 4564 «KD103 496 N75577
vKKn642 v87 S 5 107 108 vK83  vD72 S4356 3 v4 vDKn10852 S 7 5 5 7 7
+ 987 ¢+ D10 0816 33 ¢ 952 ¢EDKn104 O 8 9 8 7 9 ¢ EKD965 ¢ 7 O6 86 66
#D543 #EKn976 v8gl633 #10874 #ED5 V998709 *97 #10642 V686 66
D108 4 K10654 4 Kn74
vD1095 v Kn109 v EK7
+ K542 ¢ 763 +1043
#102 #Kn2 #EDKn5
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
76 77 44 N+1 v8 450 200 0.0(76 77 3NO-2 vJ 200 200 00| 5 71 24 V-2 &K 100 20.0 0.0
1 75 44 N= v8 420 13.0 7.0 7 11 1¢ O+1 vJ 90 180 20| 4 72 3¢ V-1 a5 50 16.0 4.0
3 73 44 N= v8 420 13.0 70| 4 72 INO+1 vJ -120 16.0 40| 9 79 3¢ V-1 43 50 16.0 4.0
4 72 44 N= ¢+ Q 420 130 70|80 8 1¢ O+3 &2 -130 140 6.0|80 8 3¢ V-1 43 50 16.0 4.0
5 71 44 N= v8 420 130 70(10 78 2NV+1 3 -150 120 80| 7 11 24 N-1 7 -50 9.0 110
9 79 44 N= v8 420 13.0 70| 9 79 INO+3 44 -180 10.0 10.0|10 78 2NS-1 +A -50 9.0 11.0
80 8 44 N= *A 420 130 70| 1 75 24 S-3 ¢2 -300 80 120(70 6 24 N-1 2 -50 9.0 11.0
10 78 44 N-1 v8 -50 4.0 16.0| 5 71 3NV= 3 -600 50 15076 77 2NN-1 vQ -50 9.0 11.0
70 6 44 N-1 v2 50 4.0 16.0({70 6 3NV= v5 -600 50 150(74 2 34 N-2 7 -100 4.0 16.0
74 2 44 N-1  v8 50 4.0 16.0|74 2 3NV+l v4 -630 20 180| 1 75 3¢ V= %3 -110 2.0 180
7 11 44 N-2 a2 -100 0.0 200 3 73 3NV+2 v4 -660 00 200| 3 73 34 N- *7 -150 0.0 20.0
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